[]000000O000

§5.3
(A)

L. D={(z,y|0=sy=1—-2,052=1}, p1 =0, pp =2
2)D={(z,9)[0=x=y=1}, p1 =0, pa=2+y
B) D={(z,9)|2*+y* =1}, p1 =0, po=1—2% —¢°
2.()D={(y,2)|0Sy=s1-20=2=1}, 91 =0, =1-y—2
(2) 00
(3) D={(y,2) | lyl + 2] = 1}, ¥1 = =1+ ([yl +|2]), Y2 =1—(|y| +12])
3. ) D={(z,y)|[1-2=y=1,0=2=1}, p1 =0, pa=x+y—1
2) D={(z,y) |22+ > <1, 2,y 20}, o1 =0, po=+/T—a2—¢*
B)D={(z,y)| —Va? =z Sy=Va?—a}, 1 =0, po = /T2 —y?
4. (1) B34 1/24 (2) 3/8 (3) 0 mDDDDDxDDDDDDm
5. (1) (1/2)(log2 —5/8) (2) 1/120 15 1-—ag3dm<_.f (1 —t)t3dt. ]
(3) 2/15
6. (1) 7/16 [§5.4 000000000000]
(2) 57/64 [§5.4 000000000000

(B)

1. [J0000000DoO0oooooooo

/Ox dz., /Ox dmn_l---/oxl £(t) dt :% Ox(a; oy



